


2. tEvrAle B, 5 WEESk] A A A7 UERfA]
2

0.762 + 0.23

T WSt g FA) A= 7] dehli2 | o] 44 =4
Zrejol A HhEEe .
0.762 + 0.23 = 3.3130--- — 3.3




3.

O S 5 U A7E 22 A2 o= A a2 e,

@ 8.356+58=1 ---2.556

@ 8.356+58=1.4 ---0.236

® 8.356 + 5.8 =1.44 ---0.004
@8.356 + 5.8 = 1.4406 ---0.0052

® 8.356 + 5.8 = 1.44068 ---0.000056

@ 8.356 + 5.8 = 1.4406 - - - 0.00052
<HAE> 5.8 x 1.4406 + 0.00052 = 8.356




7150l 1284L AF UL o] 715 & 9] Fofl 2.6L4 BT tHro]
oy gyt 52 mE 9 A7} Qlojof guzt?

(B %) = (15 F) + (@ A2 Bl HE 7159 )
= 128.4+2.6 =49---1
webd 7158 BE godd 52 50717 lofok k.
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ol £ 8308 UHpolol & g ARste] FotAHY 4515271
FoluUct. vhaA ANgS o fe dutduzb? (R& WeHste]
25 A A7 et 2.)

> &

> HE: 655

o 5 [atstw
[ ]x8.3=451.52

[ ]=451.52+83 =544
HEE AJAL D 54.4 +8.3 = 6.554 -+ — 6.55




